@
e us
UL-C-UL EE S

Recognized

Relay—type Terminal Block

E s F . Pitch 10mm

1]
E w2 | UF1003-20A-PCA
s T T 1 —
DA N—FFHE | € T AC250V 20 A
i i
| A +15 | BeEER DC500V  1000MQ LA E
! ! Tusulation Resistance| DC500V 1000MQ and over
! 5 B+ 4-R2 | it & £ AC2000V 14¥RSILLE
0.5 | /0 | Withstands Voltage | AC2000V 1minute and over
| | >
’ RLE
y. : CD : Screw Diar:nl-;ter M3
ol N © ol © BEEE _
— | N I o — N | Co?n%aﬁbﬁ%ffv%re 14—22AWG
} o I = OF
/ i > \ /)/) 4 i Reﬁnﬁeﬂ%ﬁﬁﬁﬁal R 2 - 3
4.7 6 ULEZ g A | 74— ED1YY VS /Fw2
. UL Wiring Method Field Wiring
L——————————————— 4 —f%/\Z _ General Tolerance +0.5

| RE.Scalel] B{L Unit mm|

N e ki

. 7/ <_
@ (D/ - ® ’

15

8.7

BrE X C-C

- WESCHE L P
+ Ordering Form:Type No. No.of Poles(P)
CFERRE R FEfHIT R L2 0. 6N-m. \

* Connection screw:Tightening torque is 0.6N-m. m
3 - R (R B R R AR TR — X AR S, TGN S s R A RS (100) C = "!E "!, :ﬁ' S l
- Application : Comn'lercial .appliar?ces, incliuding k?usiness .equipment, electronic data processing equipment, etc. /_ 2 2§ o ] ";' 2
or industrial devices having limited ratings(10A). = g im )
W {t#k.Specifications. == S = e a = /i = a—a ——a————
8% /Part No. HE/Part No HE . Material 3948 /Standard | <Ti%/Size HLI/ Treatment #% /Remark (B a
1 PRS- Internediate base PBT UL94V-0 H 4 Black
2 My A End base A PBT UL94V-0 H 4 Black W
3 ¥ B End base B PBT UL94V-0 £ 8 Black %E D D
4 HEAH Terminal | Brass C2680R WOE t1.0 =yl My % Nickel-Plated
5 ik A Screw %k Steel SWCH + SPCC | M3X0.5X80 | =/ LAvy®  Nickel-Plated TY=FYY¥A  Type®d
6 FOBAR  Marking strip| #Y#—%*—b Polycarbonate UL94V-2 R t1.0 M & White 345 /Poles 1P op 3P 4P 5P 6P 7P 8p 9p 10P
7 78— Cover #JA—H%—b  Polycarbonate UL94V-0 WO t1.0 % W Transparence A 28 38 48 58 68 78 88 98 108 118
8 A= 1k E A Cover Retaing screv T Brass C2700W M3X0.5X60 | =y VAy®  Nickel-Plated PiE AZFA Type® B 18 28 38 48 58 68 78 88 08 108
9 AT v M Hexagon nut 73 Steel SwcH M3 X 0.5 ZfErrA=b Tivent Chromee Teement
10 WEfEAR L R Comeeting bolt E7 Steel SWCH M3%0.5 ZHS A ik Chronat Tedmen F W4 /Poles | 11P 12P 13P 14P 15P 16P 17P 18P 19P | 20P
11 WLfES > b Connecting nut % Steel SWCH M3X0. 5 ZfpmA=b Tkt hronae Tresmen A 128 138 148 158 168 178 188 198 | 208 | 218
12 JNRJEA: Spring vasher o Steel SWRH M3 X 0. 5 ZHS A ik Clrona Tednent B 118 128 138 148 158 168 178 188 198 | 208




